TABLAS DE MULTIPLICAR DEL 1-12

TABLA DEL 1

1x1=1
ix2=2
1x3=3
1xd=4
1x5=3
==l
1x7=7
1x8=8
1x9=0
1x10=10

TABLA DEL 2

2x1=2
2nd=4
2x3=8
2xd=8
2x5=10
2=
dnT=14
2x8=18
2x9=18
2w 10=20

TABLA DEL 3

Ix1=3

Ini=6

Ini=9
3ud=12
AxS5=15
InG=18
3InT=21
IxB=24
Ix0=27

Ax10=30

TABLA DEL 4

dx1=4
dx2=8
4u3=12
4ud4=16
4x3=20
4xb=24
4n7=28
4xB=32
4x9=38
421 0=40

TABLA DEL 5

Sx1=3
S=2=10
Sx3=15
Sxd=20
Sx5=25
Sxlb=30
JET=35
SuB=40
SuG=45

Sx10=50

TABLA DEL 6
=0
Bu2=12
Gx3=18
Gud=24
Gx5=30
Gub=30
GuT=42
Gul=48
Gul=34
B 10=60
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TABLADEL S8

Bx1=8
Bxi=16
Bu3=24
Bud=32
ExS=40
Bxf=48
Bu7=36
Bxlubd
Bu@=72

B 10=80

TABLA DEL 9

Px1s9
Ou2=18
Ox3=27
Oud=36
On5=45
Ont=54
OxT=63
Ox8=72
9x9=81

9x10=00

TABLA DEL 10

10u1=10
10u2=20
10u3=30
10u4=40
10 5=50
10wd=560
10 T=70
10xB=ED
10u8=00
10 10=100

TABLADELNM

T1x1=11
1imd=23
11x3=33
11xd4=44
11x5=55
1inb=08
11x7=T7
1ixE=gE
11x0=08
11x10=110

TABLA DEL 12

T2x1=12
T2ud=d
12x3=36
12x4=48
12uS=80
12xd=T2
12x7=84
T2xBu
12xB=108
1ix10=120




